

Sales Office Unit 3, Churchill Court, Hortons Way, Westerham, Kent, TN16 1BT

Telephone 01959 560500 **Fax** 01959 563034

Accounts/Warehouse Bullhouse Mill, Lee Lane, Penistone, Sheffield, South Yorkshire, S36 9NN

Telephone 01226 372700 **Fax** 01226 370224

Order ID 289392

Order Date 01 Mar 2022

Despatch Date

Customer McCormick Print & Promotions

Address 15 Hillcrest Drive, Glasgow, G77 5HH

Customer Reference P220301_02

Contact(s) Email Address Telephone

Craig McCormick craig@mccprintpromo.com 0141 639 6556



Quantity	Туре	Description	Price (£)	Total (£)
1100	Product	B9226 Snowdown Eco Premium Cotton Tote Shopper - Yellow	0.50	550.00
1100	Printing	Screen Print B9226 - BM Steel		572.00
		2 Colours 1 Position black, white		
1	Setup	Screen Charge - B9226 - BM Steel	50.00	50.00
1	Carriage	DPD - Next Day (B9226 - 100)		10.00
1	Carriage	DPD - Next Day (B9226 - 100)	10.00	10.00
1	Carriage	ge DPD - Next Day (B9226 - 100)		10.00
1	Carriage	DPD - Next Day (B9226 - 100)		10.00
1	Carriage	DPD - Next Day (B9226 - 100) 10.0		10.00
1	Carriage	DPD - Next Day (B9226 - 100) 10.00		10.00
1	Carriage	DPD - Next Day (B9226 - 100)		10.00
1	Carriage	arriage DPD - Next Day (B9226 - 100) 10.00		10.00
1	Carriage	DPD - Next Day (B9226 - 100)	10.00	10.00
1	Carriage	DPD - Next Day (B9226 - 100)	10.00	10.00
1	Carriage	DPD - Next Day (B9226 - 100)	10.00	10.00
			Order Total	1282.00

All prices are subject to VAT at 20%.



B9226

Important print information:

Please note, for screenprinted orders we only print in uncoated (u) ink. This can differ in colour to coated (c) ink so please check the uncoated pantone book before approval. For Digital Uv print we match to coated colours.

Delivery Address(es)					
FAO	FAO Phone	Address			
Branch Manager	01224 702771	Barclay & Mathieson, Cloverhill Road, Bridge Of Don Industrial Estate, Aberdeen AB23 8FE			
	Items: B9226 - 100				
	Consignment Weight (kgs): 5.80				
	Despatch Notes: DEL NOTE ATTACHED				
Branch Manager	01761 416721	Barclay & Mathieson, Unit 18 Midsomer Enterprise Park, Radstock Road, Midsomer Norton BA3 2BB			
	Items: B9226 - 100				
	Consignment Weight	t (kgs): 5.80			



Despatch Notes: DEL NOTE ATTACHED

Branch Manager 01248 364041 Barclay & Mathieson, Unit 18, Llandygai Ind. Est, Bangor, Gwynedd LL57

4YH

Items: B9226 - 100

Consignment Weight (kgs): 5.80

Despatch Notes: DEL NOTE ATTACHED

Branch Manager 0161 485 8535 Barclay & Mathieson, Duke Avenue, Stanley Green Industrial Estate,

Cheadle Hulme, Cheshire SK8 6QZ

Items: B9226 - 100

Consignment Weight (kgs): 5.80

Despatch Notes: DEL NOTE ATTACHED

Branch Manager 0141 445 2591 Barclay & Mathieson, Shieldhall Works, Hardgate Road, Glasgow G51 4TB

Items: B9226 - 100

Consignment Weight (kgs): 5.80

Despatch Notes: DEL NOTE ATTACHED

Branch Manager 0151 922 4265 Barclay & Mathieson, Byng Street/Seymour Street, Bootle, Liverpool L20

1EE

Items: B9226 - 100

Consignment Weight (kgs): 5.80

Despatch Notes: DEL NOTE ATTACHED

Branch Manager 01524 67241 Barclay & Mathieson, Middlegate White Lund Industrial Estate, Morecambe

LA3 3BN

Items: B9226 - 100

Consignment Weight (kgs): 5.80

Despatch Notes: DEL NOTE ATTACHED

Branch Manager 0115 970 1171 Barclay & Mathieson, Basford Works, Arnold Road, Nottingham NG6 0EF

Items: B9226 - 100

Consignment Weight (kgs): 5.80

Despatch Notes: DEL NOTE ATTACHED

Branch Manager 01733 312921 Barclay & Mathieson, Oxney Road, Eastern Industry, Peterborough PE1

5YW

Items: B9226 - 100

Consignment Weight (kgs): 5.80

Despatch Notes: DEL NOTE ATTACHED

Branch Manager 01772 459111 Barclay & Mathieson, Unit 1, Part PPSI Works, Sellers Street, Preston PR1

5EU

Items: B9226 - 100

Consignment Weight (kgs): 5.80

Despatch Notes: DEL NOTE ATTACHED

Branch Manager 01962 848050 Barclay & Mathieson, Unit 30 Moorside Road, Winchester SO23 7RX

Items: B9226 - 100

Consignment Weight (kgs): 5.80

Despatch Notes: DEL NOTE ATTACHED



Notes

To prevent delays in processing your order please check all details and submit your order acknowledgement as soon as possible.